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1. The value of  is equal to

A. 

(16) + (16)
5
2

− 3
2

66738

5

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_lAZimw9K4R5L


B. 

C. 

D. 

Answer: C

Watch Video Solution

66635

46

65537
64

63537
64

2. If , then the value of n is

A. 5

B. 3

32n − 1 =
1

27n − 3

https://dl.doubtnut.com/l/_lAZimw9K4R5L
https://dl.doubtnut.com/l/_RNBGJYXP9VtI


C. 6

D. 2

Answer: D

Watch Video Solution

3. . find 

A. 0

B. 

C. 3

2x = 5y = 10− z ( + + )
1

x

1

y

1

z

−2

https://dl.doubtnut.com/l/_RNBGJYXP9VtI
https://dl.doubtnut.com/l/_sc5eJELCS4BP
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D. 5

Answer: A

Watch Video Solution

1. The index form of  is

A. 

B. 

9√( )
2

4

5

( )
4

5

2
9

( )
3

4
5

https://dl.doubtnut.com/l/_sc5eJELCS4BP
https://dl.doubtnut.com/l/_qqWYdpzmzgNI


C. 

D. 

Answer: A

Watch Video Solution

( )
1 / 2

4
5

( )
1 / 27

4
5

2. The radical form of  is

A. 

B. 

C. 

( )
3 / 4

13

25

3√( )
4

13

25

4√( )
313

25

4√( )
325

13

https://dl.doubtnut.com/l/_qqWYdpzmzgNI
https://dl.doubtnut.com/l/_r5frZEVFZXG9


D. 

Answer: B

Watch Video Solution

3√( )
425

13

3. The value of  is

A. 

B. 

C. 

D. 55

5

121− 1
2

−55

1

55

−
1

55

https://dl.doubtnut.com/l/_r5frZEVFZXG9
https://dl.doubtnut.com/l/_4QnC6o50ZUq5


Answer: D

Watch Video Solution

4. The value of  is

A. 

B. 8

C. 

D. 

Answer: C

Watch Video Solution

(512) − 3
9

1/4

1

8

−
1

8

https://dl.doubtnut.com/l/_4QnC6o50ZUq5
https://dl.doubtnut.com/l/_jKMPivDYwrof


Watch Video Solution

5. The value of  is

A. 

B. 3

C. 27

D. 

Answer: A

Watch Video Solution

3 × 9− 3 / 2 × 91 / 2

1

3

−
1

3

https://dl.doubtnut.com/l/_jKMPivDYwrof
https://dl.doubtnut.com/l/_OEKE2HMYsloe


6. The value of  is

A. 3

B. 9

C. 12

D. 6

Answer: D

Watch Video Solution

(216 )
2
3

1
2

7. The value of  is27− 1 / 3 × [272 / 3 + 271 / 3]

https://dl.doubtnut.com/l/_9f5RvCWa0DdY
https://dl.doubtnut.com/l/_PTuu01OtrT5o


A. 4

B. 3

C. 2

D. 1

Answer: D

Watch Video Solution

8. The value of  is

A. 

(6.25) − 1 / 2

0.25

https://dl.doubtnut.com/l/_PTuu01OtrT5o
https://dl.doubtnut.com/l/_hS4hBNOgILZt


B. 25

C. 

D. 

Answer: C

Watch Video Solution

1

2.5

2.5

9. The value of  is

A. 7

B. 9

√63 × √7
3√27

https://dl.doubtnut.com/l/_hS4hBNOgILZt
https://dl.doubtnut.com/l/_yUXW43puqXM3


C. 21

D. 18

Answer: A

Watch Video Solution

10. If , then the value of  is

A. 

B. 

C. 

√3 = 1.732
√3 + 1

√3 − 1

3.732

1

3.732

0.732

https://dl.doubtnut.com/l/_yUXW43puqXM3
https://dl.doubtnut.com/l/_Wv8SeFI15b20


D. 

Answer: A

Watch Video Solution

2.732

11. If , then the value of x is

A. 2

B. 

C. 

D. 1

3x =
1

9

−2

1

2

https://dl.doubtnut.com/l/_Wv8SeFI15b20
https://dl.doubtnut.com/l/_QF33JqMfP8HB


Answer: B

Watch Video Solution

12. The value of 
 is
 
 b. 
 c. 
 d. 

A. 1

B. 2

C. 3

D. 4

Answer: D

(0. 03125) − 2
5 4 12 9

31. 25

https://dl.doubtnut.com/l/_QF33JqMfP8HB
https://dl.doubtnut.com/l/_yR5bKTOVjKUl


Watch Video Solution

13. The value of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√18 + √50 − √32

4√2

3√2

2√2

√2

https://dl.doubtnut.com/l/_yR5bKTOVjKUl
https://dl.doubtnut.com/l/_g2FEFFmpofzU
https://dl.doubtnut.com/l/_peBDQmfasSE2


14. The value of  is

A. 0

B. 1

C. 

D. 

Answer: B

Watch Video Solution

(xa − b)
c

× (xb − c)
a

× (xc − a)
b

xab

xbc

https://dl.doubtnut.com/l/_peBDQmfasSE2


15. The value of

 is

A. 0

B. 

C. 1

D. 

Answer: C

Watch Video Solution

( )
x + y

× ( )
y + z

× ( )
z + x

ax

ay

ay

az

az

ax

1

y

1

xyz

https://dl.doubtnut.com/l/_6OQMwzV7jiPR


16. If , then the value of

x is

A. 

B. 

C. 10

D. 5

Answer: B

Watch Video Solution

x =
√126 × √63 × √45

√147 × √243

√5

√10

https://dl.doubtnut.com/l/_wla3pd12c7u9


17. The value of  is

A. 11

B. 13

C. 12

D. 15

Answer: B

Watch Video Solution

(122 + 52)
1 / 2

18. If  , then x = ? S9√x = √12 + √147

https://dl.doubtnut.com/l/_35MLeg8hXX4G
https://dl.doubtnut.com/l/_AtVGYHB3BEQf


A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

19. The value of  is

A. 37

(7√2 + 5)(7√2 − 5)

https://dl.doubtnut.com/l/_AtVGYHB3BEQf
https://dl.doubtnut.com/l/_NXmwcepkTeZy


B. 171

C. 73

D. 

Answer: C

Watch Video Solution

14√2

20. The value of

is

A. 

( )
x2 + xy + y2

× ( )
y2 + yz + z2

× ( )
z2 + xz + x2

ax

ay

ay

az

az

ax

axy

https://dl.doubtnut.com/l/_NXmwcepkTeZy
https://dl.doubtnut.com/l/_lt7WLVq44JVX


B. 1

C. 

D. 0

Answer: B

Watch Video Solution

ax

https://dl.doubtnut.com/l/_lt7WLVq44JVX

